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Note:-Attempt all questions

TTTTTTTTIO(A) Choose the correct answer, T T T T T R =Ly T T

i) Unit of Resistivity is:-
(a) Ohm-Meter (b) Meter/Ohm.
(c) Ohm/Meter (d) Ohm/Meter?
ii) Two main disadvantages of the Primary cell are:
(a) Local action and Polarisation.
(b) Local action and Sulphasation.
(c) Bucking of electrodes and plolarisation.
(d) Sulphation and Sedimentation.
ii1) Of the following, select the best conductor of electricity:

(a) Porcelain (b) Graphite

(c) China Clay (d) None of these
iv) Permeance is equivalent of:-

(a) Conductivity (b) Resistance

(c) Reluctance (d) None of the above.
v) When a conductor is rotated in a magnetic field, than e.m.f is:-

(a)Constant (b) Variable

(c) Induced e.m.f (d) None of the above

vi) Back e.m.fis generated in the armature due to:
(a) Current
(b) Supply Voltage
(c) Interference of armature conductors in the magnetic field
(d) Interference of the two magnatic fields.
vii) Power factor is expressed as a ratio of:

o

(a) Volt Ampere & Watt. ' (b) Watt & Volt Ampere

(c) Reactive Volt Ampere and Watt (d) Watt & Reactive Volt Ampere
viii) Joints in the winding are soldered to improve:

(a) Conductivity (b) Specific resistance

(c) Insulation (d) Corrosion
ix) In any transformer, the magnetic field is induced:-

(a) Primary to Secondary (b) Secondary to Primary

(c) Primary to Secondary and Secondary to Primary (d) None of the above

x) Induction motor worlks on the principal of:
(a) Law of Faraday. (b) Skewed magnetic field
(c) Fleming Right Hand Rule (d) Ohm’s Law.

(B) State True or False. In case of False correct the statement.
1) In any Resistive circuit current increase when resistance is increased.
ii) Not using battery for long duration causes sulphation.
1ii) Armature reaction is due to increase of generation of sparking.
iv) D.C. series motor is used in the M-G set.
v) Resistance of the earth electrode decreases when water is added to the earth pit.

(5x1=5)
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2. Write short answer of the following:- (15x2=30)
i)  Methods of speed control of D.C. Series Motor.
if)  Instantaneous power”
iii)  Adverse effect of low p.f.
1v)  What is slip?
v)  Full form of ONAM
Type-of water is-used-in-the-electrolyte:—=~--——-wmemmmms -
vii) Main parts of D.C. Generator.
viii) Difference between D.C. Motor and D.C. Generator.
ix) Permitted % variation in frequency of the distribution power line.
x)  Why tumbler switches are made of porcelain.
xi) Materials used in making fiise wire.
~xii) Why iron is more permeable than copper?
xiii) Range of Standard Wire Gauge(S.W.G).
xiv) Work and Energy.
xv) Function of “Inverter”.
xvi) Why core of armature is laminated?

xvii) How losses can be determined without loading the transformer?
xviii) What is the motor principle?

3. Answer Any Six of the following: (6x5=30)

i)
i)

iii)

iv)
V)

vi)
Vii)

Law of Resistance.

Why the shunt generator characteristic on loading is drooping?

What is capacitive reactance and inductive reactance? What is the effect of frequency
on them?

Describe the steps of construction of stator of 3- phase induction motor.

What are the advantage and disadvantage of the Star/Star connection?

Explain Kirchoff’s Law.

What do you mean by half-wave rectifier?

viii) What are reasons of excessive sparking in a universal induction motor?
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